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det(A) = det 2 ! 0 0 = ()(7NB)(—26) = —-546 <«
0 6 3 0
7 3 1 =26


Aceruser
印章

Aceruser
印章


] S AYERMERRFREEITINE

FEE AR 4 SRATHIEE

35 =2 6
12 =1 1
A=1, 4 1 s
3 7 5 3

15 2 FIREHE ER S EONEIL YR - 15

0 -1 1 3
1 —1 1
det(A)=| =~ ;
0 1 0

——|l 0o 3 3 LI 11T
HATRR

MEIE 3 5|

3
3

——=n|? 3 _umiam
9 3 BT BB


Aceruser
印章


26451 7 ISR DR

fEH (8) AKiB] 6 i 4 BB A

CUREKTS: det(4) = 64 + [Kllik
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A~ = di(A) = — 6 2 —10| = 6 2 _10
det(A)aJ( ) 64 o4 o4 64
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X1 + +2x3= 6
—3x1 + 4x; + 6x3 = 30
—X] —2xy +3x3= 8

1 0 2] 6 0 2
A=|-3 4 6|, A =30 4 :
-1 -2 3] | 8 -2 3
1 6 2] 1 0 6
Ay=|=3 30 6|, A;=|-3 4 30
-1 8 3 —1 =2 8
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_det(A)) _ —40  —10 det(4) 72 18

X1 X2

T det(A) | 44 11 = det(A) 44 11
det(Ay) 152 38
o det(A) 44 11
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